Quiz for Unit 5

I. Choose the best that completes the sentences. (10 points)

1. They have planned to install an air-conditioning system in the terminal room to ________ the temperature of the room.

A. retain B. exchange C. waken D. regulate

2. He talked to the old lady in ________ voice whose son died in an accident.

A. comparable B. compassionate C. complacent D. loud

3. There were 120 people on the plane, ________ the crew.

A. exclusive of B. not to mention C but for D. except for

4. We must ________ all possible ways to increase food production.

A. venture B. explore C. promote D. cultivate

5. He played a ________ role in the film. We are all impressed by his wonderful performance.

A. lead B. led C. leading D. to lead

6. The twentieth century has witnessed an enormous worldwide political, economic and cultural ________.

A. transmission B. transformation C. tradition D. transportation

7. The shy girl felt ________ and uncomfortable when she could not answer her teacher’s question.

A. amazed B. awkward C. curious D. amused

8. According to the American federal government, residents of Hawaii have the longest life ________: 77.2 years.

A. scope B. rank C. span D. scale

9. Mobile telecommunications ________ is expect to double in Shanghai this year as a result of a contract signed between the two companies.

A. potential B. possession C. impact D. capacity

10. New York ________ second in the production of apples, producing 850,000,000 pounds this year.

A. ranked B. occupied C. arranged D. classified

11. As we can no longer wait for the delivery of our order, we have to ________ it.

A. postpone B. refuse C. delay D. cancel

12. Our journey was slow because the train stopped ________ at different village.

A. unceasingly B. gradually C. continuously D. continually

13. The manager spoke highly of such________ as loyalty, courage and truthfulness shown by his employees.

A. virtues B. features C. properties D. characteristics

14. The ________ stuck on the envelope says “ By Air”.

A. label B. signal C. mark D. diagram

15. These goods are ________ for export, though a few of them may be sold on the home market.

A. essentially B. completely C. necessarily D. remarkably

16. Everybody ________ in the hall where they were welcomed by the secretary.

A. assembled B. accumulated C. piled D. joined

17. In previous times, when fresh meat was in short ________, pigeons were kept by many households as a source of food.

A. store B. provision C. reserve D. supply

18. I caught a ________ of the taxi before it disappeared around the corner of the street.

A. vision B. glimpse C. look D. scene

19. The strong storm did a lot of damage to the coastal villages: several fishing boats were________ and many houses collapsed.

A. wrecked B. spoiled C. torn D. injured

20. If one is looked at by a stranger for too long, he tends to feel ________.

A. depressed B. uneasy C. curious D. amused

II Complete the following sentences with phrases or expressions given below. Change the form where necessary.

1. Her constant lying ________ me ________ distrust everything she said.

2. She ________ a difficult period after her marriage failed.

3. After being ill I didn’t feel like eating but I managed to ________ something ________

4. The scientists ________ thousands of chemicals before they found the right one.

5. The talks ________ reducing the number of missiles.

6. ________ further his knowledge of the unknown, man has explored the earth, the sea, and now, space.

7. The children thought spending their vacation on their uncle’s farm would be boring, but it ________ to be the best vacation they had ever had.

8. Money makes money.________, the more money you put into your business, the greater the profit.

9. I’m all ________ people going out and enjoying themselves so long as they don’t disturb other people.

10. She planned to visit New York, Tokyo, Beijing, Pairs and many other cities. ________, she wanted to go to many big cities around the world.

III. Reading.

PASSAGE 1

Would be language teachers everywhere have one thing in common: they all want some recognition of their professional status and skills, and a job. The former requirement is obviously important on a personal level, but it is vital if you are to have any chance of finding work.

Ten years ago, the situation was very different. In virtually every developing country, and in many developed countries as well, being a native English speaker was enough to get you employed as an English teacher.

Now employers will only look at teachers who have the knowledge, the skills and attitudes to teach English effectively. The result of this has been to raise non-native English teachers to the same status as their native counterparts ( 相对应的人) something they have always deserved but seldom enjoyed. Non-natives are now happy-linguistic discrimination(语言上的歧视) a thing of the past.

An ongoing research project, funded by the University of Cambridge, asked a sample of teachers, educators and employers in more than 40 countries whether they regard the native /non-native speakers distinction as being at all important.“No” was the answer. As long as candidates could teach and had the required level of English, it didn’t matter who they were and where they came from. Thus, a new form of discrimination this time justified because it singled out the unqualified-liberated the linguistically oppressed (受压迫的). But the Cambridge project did more than just that: it confirmed that the needs of native and non-native teachers are extremely similar.

Questions:

S1 The selection of English teachers used to be mainly based on

__________________________________________________________________________

S2 What did non-native English teachers deserve but seldom enjoy?

___________________________________________________________________________

S3 What kind of people can now find a job as an English teacher?

___________________________________________________________________________

S4 What is the result of the “new form of discrimination” (Line 5, Para.4)

___________________________________________________________________________

S5 The phrase “the linguistically oppressed” (Line 6, Para.4) refers to those who were

__________________________________________________________________________

PASSAGE 2

What personal qualities are desirable in a teacher? I think the following would be generally accepted.

First, the teacher’s personality should be lively and attractive. This does not rule out people who are plain-looking, or even ugly, because many such people have great personal charm. But it does rule out such types as the over-excitable, sad, cold, and frustrated.

Secondly, it is not merely desirable but essential for a teacher to have a genuine capacity for sympathy, a capacity to understand the minds and feelings of other people, especially, since most teachers are school teachers, the minds and feelings of children. Closely related with this is the capacity to be tolerant——not, indeed of weaknesses and immaturity of human nature which induce people, and again especially children, to make mistakes.

Thirdly, I hold it essential for a teacher to be both intellectually and morally honest. This means that he will be aware of his intellectual strengths and limitations, and will have thought about and decided upon the moral principles by which his life shall be guided. There is no contradiction in my going on to say that a teacher should be a bit of an actor. That is part of the technique of teaching, which demands that every now and then a teacher should be able to put on an act to enliven a lesson, correct a fault, or award praise. Children, especially young children, live in a world that is rather larger than life.

A teacher must be capable of infinite patience. This , I may say, is largely a matter of self-discipline and self-training, for we are none of us born like that.

Finally, I think a teacher should have the kind of mind which always wants to go on learning, teaching is a job at which one will never be perfect; there is always something more to learn about it. There are three principal objects of study; the subjects which the teacher is teaching; the methods by which the subjects can best be taught to the particular pupils in the class he is teaching; and ——by far the most important——the children, young people, or adults to whom the subjects are to be taught. The two fundamental principles of British education today are that education is education of the whole person, and that it is best acquired through full and active co-operation between two persons, the teacher and the learner.

S1 Plain-looking teachers can also be admired by their students if they have ________.

S2 The author says it is ________ that teachers be sympathetic with their students.

S3 A teacher should be tolerant because humans tend to have S3(1)________ and to be S3(2)________

S4 A teacher who is ________ will be able to make his lessons more livelier.

S5 How can a teacher acquire infinite patience?________

S6 Since teaching is a job no one can be perfect at, it is necessary for teachers to keep improving their knowledge of the

subjects they teach and their ________

S7 Teachers’ most important object of study is ________

S8 Education cannot be best acquired without ________ between the teacher and the learner.

PASSAGE 3

Questions 1to 5 are based on the following passage.

The predictability of our mortality rates is something that has long puzzled social scientists. After all, there is no natural reason why 2,500 people should accidentally shoot themselves each year or why 7,000 should drown or 55,000 die in their cars. No one establishes a quota for each type of death. It just happens that they follow a consistent pattern year after year.

A few years ago a Canadian psychologist named Gerald Wilde became interested in this phenomenon. He noticed that mortality rates for violent and accidental deaths throughout the Western world have remained oddly static throughout the whole of the century, despite all the technological advances and increases in safety standards that have happened in that time. Wilde developed an intriguing theory called “risk homeostasis”. According to this theory, people instinctively live with a certain level of risk. When something is made safer, people will get around the measure in some way to reassert the original level of danger. If, for instance, they are required to wear seat belts, they will feel safer and thus will drive a little faster and a little more recklessly, thereby statistically canceling out the benefits that the seat belt confers. Other studies have shown that where an intersection is made safer, the accident rate invariably falls there but rises to a compensating level elsewhere along the same stretch of road. It appears, then, that we have an innate need for danger.

In all events, it is becoming clearer and clearer to scientists that the factors influencing our lifespan are far more subtle and complex than had been previously thought. It now appears that if you wish to live a long life, it isn’t simply a matter of adhering to certain precautions ⋯ eating the right foods, not smoking, driving with care. You must also have the right attitude. Scientists at the Duke University Medical Center made a 15-year study of 500 person personalities and found, somewhat to their surprise, that people with a suspicious or mistrustful nature die prematurely far more often than people with a sunny disposition. Looking on the bright side, it seems, can add years to your life span.

1. What social scientists have long felt puzzled about is why ______________.

A) the mortality rate can not be predicted

B) the death toll remained stable year after year

C) a quota for each type of death has not come into being

D) people lost their lives every year for this or that reason

2. In his research, Gerald Wilde finds that technological advances and increases in safety standards ______________.

A) have helped solve the problem of so high death rate

B) have oddly accounted for mortality rates in the past century

C) have reduced mortality rates for violent and accidental deaths

D) have achieved no effect in bringing down the number of deaths

3. According to the theory of “risk homeostasis”, some traffic accidents result from ______________.

A) our innate desire for risk

B) our fast and reckless driving

C) our ignorance of seat belt benefits

D) our instinctive interest in speeding

4. By saying “⋯statistically canceling out the benefits that the seat belt confers” (Para. 2), the author means

______________.

A) wearing seat belts does not have any benefits from the statistic point of viewB) deaths from wearing seat belts are the same as those from not wearing them

C) deaths from other reasons counterbalance the benefits of wearing seat belts

D) wearing seat belts does not necessarily reduce deaths from traffic accidents

5. Which of the following may contribute to a longer life span?

A) Showing adequate trust instead of suspicion of others

B) Eating the food low in fat and driving with great care

C) Cultivating an optimistic personality and never losing heart

D) Looking on the bright side and developing a balanced level of risk

PASSAGE 4

Questions 1 to 5 are based on the following passage.

In California the regulators, the utilities and the governor all want the Federal Energy Regulatory Commission to cap spot (现货的) market prices. The Californians claim it will rein in outrageous prices. Federal regulators have refused. The battle is on.

Governor Gray Davis says“, I’m not happy with the Federal Regulatory Commission at all. They’re living in an ivory tower. If their bills were going up like the people in San Diego, they would know that this is a real problem in the real world.”As part of deregulation, price caps were removed to allow for a free market. Timing is everything; natural gas prices had already skyrocketed. Demand was high from California’s booming economy. No new power plants had been built here in ten years, and power producers had the right to hike prices along with demand. And hike them they did.

Loretta Lynch of the Public Utilities Commission says,” This commission and all of California was beating down the door of federal regulators to say “help us impose reasonable price caps to help to keep our market stable.”
Federal regulators did ask for longer-term contracts between power producers and the utilities to stabilize prices. The federal commission, unavailable for comment on this story, released a recent statement defending its position not to reregulate.

Federal Energy Regulatory Commission Dec. 15, 2000“: The commission’s intention is to enable the markets to catch up to current supply and demand problems and not to reintroduce command and control regulation that has helped to produce the current crisis.”
Some energy experts believe that, without temporary price caps, the crisis will continue.

Severin Borenstein of the U.C. Energy Institute says“, Some federal regulators have a blind commitment to making the market work and I think part of the problem is they really don’t understand what's going on.”
Gary Ackerman of the Western Power Trading Forum says, “He’s dead wrong about that. The federal regulators understand far better than any individual state that, though it might be painful and it certainly is painful in California, price caps don’t work. They never work.”
1. The battle between Californians and federal regulators is about ______________.

A) control over the price of power

B) necessity of removing price caps

C) hiking the energy prices in California

D) a regulation concerning power supply

2. Governor Gray Davis was dissatisfied with the Federal Regulatory Commission because ______________.

A) they did not know what the real problem was

B) they were living an easy life in an ivory tower

C) they could not experience the life in San DiegoD) they turned a blind eye to the situation in California

3. The Federal Commission uncapped the energy price with the intention to ______________.

A) help California's economy booming steadily

B) prevent power price from going up any further

C) enable the market to deal with supply and demand problems

D) have contracts signed between power producers and the utilities

4. To help keep prices from going higher, people and groups in California ______________.

A) imposed reasonable price caps

B) beat down the door of federal regulators

C) urged the federal authorities to take action

D) struggled against federal policy to hike prices

5. Energy experts against price caps believe that ______________.

A) the present situation in California will continue unless there is price control

B) the current crisis is partly attributed to previous command and control policy

C) price caps can temporarily solve energy problems an individual state meets with

D) they do understand what is going on in California and will take proper measures

IV Translate the following sentences into Chinese

1. I firmly believe that this agreement will be for our mutual benefit.

2. Tolerance is the quality of allowing other people to say and do as they like, even if you do not agree with it.

3. For years the girl harbored resentment against her stepmother.

4. If one hesitates to do something, he/she is unwilling to do it because he/she is worried or not certain whether it is correct or right.

5. Children should be encouraged to reach a compromise between what they want and what others want.

V Translate the following sentences into English

1. 既然你计划移居加拿大，那你必须努力适应寒冷的气候。
2. 他是个有经验的商人；他做国际贸易已有好几年了。
3. 由于缺乏资金和必要设备，这家公司过了很长时间才实施提高产品质量的计划。
4. 有能力的成功商人善于利用各种资源来赚钱。
5. 上课时，鲍勃常常准备一些图画来说明课文中所讲述的内容。
Key to Quiz for Unit 5

I. Answers of the choices

1. 答案: D 【解析】辨析词语题。retain 保留；exchange 交换；waken 唤醒；regulate 调节。【译文】他们打
算在终端房里装上空调系统以调节室温。
2. 答案: B 【解析】近形词辨析题。comparable adj. 可比较的；compassionate adj. 有同情心的；complacent adj. 自鸣得意的；loud adj. 大声的。【译文】他以同情的语调对那位老太太讲话, 她的儿子在车祸中丧生了。
3. 答案: A 【解析】词组辨析题。exclusive of 除了⋯之外, 相当于excluding；not to mention 更不要说, 更别提⋯的；but for 若不是, 要不是；except for 除了⋯之外, 只是对主句作细节上的修正, 并不表示数量上排除。【译文】除了工作人员外, 这飞机上有120 名乘客。
4. 答案: B 【解析】词义辨析题。venture v. 冒险, 冒风险；explore v. 探究问题, 可能性；promote v. 提高, 提升；cultivate v. 培养, 开发。【译文】我们必须尽可能研究各种方法以增加粮食产量。
5. 答案: C 【解析】近形词辨析题。leading adj. 主要的。【译文】他在电影中演主角, 我们对他的情形演出留下了深刻的印象。
6. 答案: B 【解析】transformation 改变，转变；改造，改革；( 电流) 变压, 有变革之意, 符合题意。transmission播送，发射；传送，传递，传染；tradition 传统，惯例; transportation 运输, 运输系统, 运输工具。【译文】二十世纪经历了深刻的全球政治, 经济和文化变革.

7. 答案: B 【解析】四个选项的意思分别为: A. amazed 惊奇的; B. awkward 尴尬的; C. curious 好奇的; D. amused 好玩的, 有趣的. 句中的uncomfortable 暗示了对选项B 的选择。【译文】当回答不出老师的问题时, 这个怕羞的姑娘感到尴尬和不舒服.

8. 答案: C 【解析】 life span 意为“寿命”; 而A. scope 意为“范围, 视野, 能力, 能量”; B. rank 职位, 职衔，地位；D. scale 表示“规模, 大小, 范围, 程度, 尺度, 刻度”。【译文】根据美国联邦政府的调查, 夏威夷居民寿命最长:77.2 岁。
9. 答案: D 【解析】 capacity“容量, 容积; 才能, 能力; 身份, 职位”, 符合题意。potential “潜在的，可能的；潜力, 潜能; possession “所有, 占有; 所有物”; impact“影响，作用；冲击，碰撞”。【译文】由于这两个大公司签署了合作协议，今年上海移动通信的容量有望翻一番。
10. 答案: A 【解析】词义辨析题和词汇搭配题 rank 意为“排列”; occupy 意为“占据, 占领”; arrange 意为“安排”; classify 意为“分类, 分等”。rank + 序数词+in 是固定搭配, 习惯用法, 注意, 这里的序数词前没有定冠词the .【译文】纽约在苹果生产上列第二位, 今年产量为850,000,000 镑。
11. 答案: D 【解析】这是一个词义辨析题。postpone: 推迟, 使延期, 延迟; refuse 拒绝; delay 耽搁，延迟，延期；cancel 取消，删去。句子中，空格后的it 指代的是order。【译文】我们不能再等我们的订货( 交付) 了, 所以我们只好取消订单。
12. 答案: D 【解析】词义辨析题。四个选的意思是: A. unceasingly 意为“: 继续地,不断地, 持续地”; B.gradually 意为: 逐渐地; C. continuously 意为: 连续地, 不断地; 形容词continuous. 比如: The trees formed a continuous line on the horizon. 树木在地平线上形成一条连续不断的直线.D. continually 意为: 不断地,频繁地. 通常指“老是做某事,” 有“令人厌烦”的意思. 例如: I’m tired of the way he continually complains about everything. 他老是不停地抱怨, 令我厌倦。根据句意,D 正确。【译文】我们的旅行很慢, 因为火车不断地在不同的村庄停车。
13. 答案: A 【解析】四个选项的意思分别为: A. virtues 美德的; B. features 特点; C. properties 性能, 特征, 财产; D. characteristics ( 性格) 特______征, 特点; 句中的loyalty ( 忠诚), courage ( 勇气) 和truthfulness ( 城市) 暗示了对选项A 的选择。【译文】这个经理高度赞扬了他的雇员们表现出来的诸如忠诚, 勇敢, 真诚的美德。
14. 答案: A 【解析】label “标签, 标记; 称号”, 有标签之意, 故选A; B signal “信号, 暗号; 标志, 表示”; C. mark “痕迹, 斑点, 污点; 记号, 标记; ( 考试等的) 分数; D. diagram“图解, 简图, 图表” 均不符合题意。句中stick 意为“粘贴”。【译文】贴在信封的标签上写着“航空”。
15. 答案: A 【解析】四个选项的意思分别为: A. essentially 基本地, 本质地; B. completely 完整地, 全部地;彻底地; C. necessarily 必要地, 必须地; D. remarkably 异常地, 非凡地, 值得注意的, 显著地。【译文】这些商品基本上( 或原则地) 是出口, 尽管其中一部分也在国内市场销售。
16. 答案: A 【解析】本题的空格处需要一个不及物动词, 而各选项做不及物动词的意思分别为: assemble 集合, 聚集; accumulate ( 多指物) 积成堆, 累积, 聚积; pile 打桩, 堆积; join 成为会员。显然A 正确。【译文】大家都集合到礼堂里, 在那儿他们受到书记的欢迎。
17. 答案: D 【解析】词义辨析题. 空格处应填入名词, 四个选项中, store 意为“商店, 贮藏”; reserve 意为“储备物, 贮藏量”; supply 意为“补给, 供应”; provision 意为“供应, 预备, 规定”, 例如: The provision of food for all the children was difficult. 要供应所有孩子的食物是很困难的.to make provision for the future准备日后之需; in short supply 意为“短缺”, 是习惯用法。因此正确选项为D。【译文】以往, 当鲜肉短缺时, 许多家庭把鸽子作为食物来源。
18. 答案: B 【解析】本题涉及固定搭配. catch a glimpse of 为固定搭配, 也可以用get a glimpse of, 意思是瞥见。【译文】出租车在街角处消失之前我瞥了它一眼。
19. 答案: A 【解析】四个选项意思分别为: A. wrecked 使( 船, 火车等) 失事; B. spoiled 损坏, 糟踏, 宠坏; C. torn 撕开, 扯破, 拉【译文】这次强风暴给沿岸村庄带来很大破坏, 几艘渔船被毁, 很多房屋倒塌。
20. 答案: B 【解析】选项中, depressed 意为“情绪低落, 沮丧的”; uneasy 意为“不自在的, 不舒服的”; curious 意为“好奇的”; amused 意为“ 有趣的, 好玩的”。其中uneasy 和文章中的uncomfortable 是同义词， 选项B是正确选项。【译文】如果一个人被一个陌生人注视太长时间, 他会感觉不自在。
II. 1. led... to 她总撒谎, 我完全不相信她的话了。【解析】lead sb.(to sth.) 意为“引导某人; 影响某人的言行”。
2. passed through 她婚姻破裂后一度十分困难。【解析】pass through 意为“经历”。
3. force down 我病后不想吃东西, 不过还是勉强咽了一点。【解析】force down 意为“强迫某人咽下”。
4. tried out 科学家们试验了几千种化学物品才找到合适的一种。【解析】try out 意为“试验( 某物), 试用(某人)”。
5. resulted in 谈判结果削减了导弹数量。【解析】result in 意为“产生某种作用或结果”。
6. in a quest to 为了扩展对未知世界的认识，人类已经探索了地球、海洋、现在又开始对太空进行探索。【解析】in a quest to 意为“追寻”。
7. turned out 孩子们认为在叔叔家的农场渡过假期将会是很无聊的事情，但是事实证明，这个假期是他们
曾经有过的最好的假期。【解析】turn out 意为“证明⋯的结果”。
8. In other words 钱能生钱。换句话说，你在商业中投资越大，获得的利润越大。【解析】in other words 意为“换句话说”。
9. in favor of 只要不打扰其他人，我赞成人们出去，自娱自乐。【解析】in favor of 意为：“赞成”
10. in short 她计划去纽约，东京，北京，巴黎和许多其他的城市旅游，总之， 她想要去世界的许多大城市。【解析】in short 总之；总而言之
III. Answers:

Passage One:

S1 whether or not one was a native speaker.

S2 The same status as their counterparts.

S3 Ones who can teach and have the required English level.

S4 Non-native English teacher have been liberated.

Or:It singled out the unqualified.

S5 qualified English teachers because they were non-native speakers.

Passage Two

S1 great personal charm

S2 desirable and essential

S3 (1) weakness and immaturity (2) wrong

S4 a bit of an actor

S5 By self-discipline and self-training

S6 methods by which the subjects can best be taught

S7 the learners to whom the subjects are to be taught

S8 full and active co-operation

Passage Three

1. B) 2. D) 3. A) 4. C) 5. C)

Passage Four

1. A) 2. D) 3. C) 4. C) 5. B) IV 1. 我坚信这个协议能使我们双方获益。
2. 宽容就是让别人按自己的方式去说话、做事，即使你对此持有异议。
3. 多年来这个女孩对他的继母心怀怨恨。
4. 如果一个人做事犹豫不决，不心甘情愿去做，那是因为他不能肯定这件事正确与否。
5. 应该鼓励孩子们在自己的需求和别人的需求间达成妥协。
V 1. Now that you are planning to move to Canada, you must make effort to adjust to the cold weather.

2. He is an experienced businessman; he has engaged in foreign trade for quite a few years.

3. It was a long time before the company implemented the program to improve the quality of the goods because of lack of money and necessary equipment.

4. An able and successful businessman is good at making using of the resources to make money.

5. When giving a lecture, Bob often prepared some pictures to illustrate how the situation mentioned in a text took place.

try out 		result in 		pass through 		in favor of 		in a quest to


in short 		turn out 		lead to 			in other words 	force down








